BALANCING WORD EQUATIONS

Write the chemical formula for the reactants and products and balance the equations.

(i) antimony + chlorine = antimony trichloride

(i) sodium chlorate —> sodium chloride + oxygen

(i) sodium carbonate + water —> sodium oxide + hydrogen carbonate

(iv) silver + sulfur = silver sulfide

(v) potassium + water —> potassium hydroxide + hydrogen

(vi) barium chloride + magnesium sulfate = barium sulfate + magnesium chloride

(vij sodium bromide + chlorine = sodium chloride + bromine

(viil ammonium carbonate = ammonia + carbonic acid

(ix) calcium carbonate + hydrochloric acid = calcium chloride + hydrogen carbonate

(x) zinc chloride + phosphoric acid = zinc phosphate + hydrogen chloride



BALANCING WORD EQUATIONS

Answers
(i) antimony + chlorine = antimony trichloride

25b +3Cl, —> 25bCl,

(i) sodium chlorate —> sodium chloride + oxygen

2 NaCIO3 — 2 NaCl+ 3 O,

(i) sodium carbonate + water —> sodium oxide + hydrogen carbonate

Na,CO, + H,0 = Na,0 + H,CO,

(iv) silver + sulfur = silver sulfide

2Ag+ S —>Ag,S

(v) potassium + water —> potassium hydroxide + hydrogen

2K +2H,0 > 2KOH +H,

(vi) barium chloride + magnesium sulfate = barium sulfate + magnesium chloride

BaCl, + MgSO, = BaSO, + MgCl,

(vij sodium bromide + chlorine = sodium chloride + bromine

2 NaBr + Cl, = 2 NaCl + Br,

(viil ammonium carbonate = ammonia + carbonic acid

(NH,),CO, + 2NH, = H.CO,

(ix) calcium carbonate + hydrochloric acid = calcium chloride + hydrogen carbonate

CaCO, + 2 HCl => 2 NH, + H,CO,

(x) zinc chloride + phosphoric acid = zinc phosphate + hydrogen chloride

3ZnCl, + 2 H,PO, > Zn (PO,), + 6 HC|
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